P ER[QZY IRON

Mbl MPON3BOOAVNM BE3SOMNMACHOCTb

ID: 1047112
HONDA CBR600RA (CBR600RR ¢ ABS) 2009-2012

Installing:

Left side

Comments: Tightening torques Nm
Needs improvement of plastic Connection type
Completeness of set: Thread | Steel Aluminum
1. Bolt M12x1.25x100 + washer + screw- spring washer + sllider + bolt M6x16
Bolt M12x1.25x100 + washer + screw- spring washer + sllider + bolt M6x16 M6 10 6
Bolt M8x45 + washer + spring washer + rod L=300 M8 24 20
Bolt M8x20 + washer + spring washer + rod look p.3 M10 48 35
Bolt M10x30 + washer + tube 22x10x255 Mi2 56 45

2
3
4
5
6. Bolt M10x30 + washer + tube look p.5

7. Slider + bolt M6x16

8. Slider + bolt M6x16

Sequence of assembly:

1. Find the front points where cage fix.

2. Cuta hole in plastic with a diameter of 36-38mm at the points “1” and “2 “

3. Turn out the left standard bolt of a forward fastening of the engine to a frame.

4. Attach the arc to the motorcycle according to the attachment points

5. Start a screw front bolt through the hole in plastic, at point Nel

6. Pass the rod from the kit through the rear attachment point of the engine to the frame and screw the arc at point 3
7. Repeat the procedure for the right side.

8. Connect points “5” u “6” through tube with bolts M10x30.

9. Install sliders in the according seat places and secure them with bolts M6x16

1

0. Tighten all the fasteners with effort, according to the table below.
NEVER LOOSEN ENGINE BOLTS FROM THE LEFT AND RIGHT SIDES AT THE SAME TIME!!!

BHUMHuMe:
[yrn He rapaHTUPYHOT MOJIHYIO 3aLMTy MOTOLMKAS,
a VWb CHUXKAKOT BEPOATHOCTb €ro NOBPEXAEHUA NPU NALEHUAX.

Mo Bcem BOMpPOCaM CBA3aHHbIM C YCTAaHOBKOW Haller NpoayKLuu,
a TakXe C rapaHTUHbIMUK 0653aTeIbcTBaMK,
obpallanTecb noxkanyncra Hanpsamyto B 1r0boe otaeneHmne Crazy Iron.
KoHTakTbl 61vKanLLnMX OTAENEHUI CMOTPUTE Ha HalleM caunTe,

www.crazyiron .ru



